TROIS CAS NON PONCTUEL
Charge:=750 N
Latmant:=32 mm

Wcharge := _Charge Wcharge=23.438 N

Laimant mm
Long:=108 mm
Dazxe:=10 mm

FEacier:=210 GPa
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Jage =T D%e_ Jaze =490.874 mm’
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UNITE MICROMETRE
al:=73 mm b1:=89 mm cl:=26 mm rzxl:=cl
9 9 4 4 4 4
Flechel :=C'te- ((4 «cl- (bl — al)) . <Long —xxl > «xxl+ Long- (wa:l — al) —Long- (acxl - bl) — (Long— al) cxxl+ (Long - bl) . xml)

Fléchel =—64.434 um

a2:=53 mm b2:=69 mm c2:=46 mm xx2:=C2
Fléche2:=Cte- ((4 «c2- (b2 — a2)) . <Long2 — wm22> «xx2+ Long - (acac2 — a2)4 —Long- (ac:n2 — b2)4 — (Long — a2)4 cxx2+ (Long — b2)4 . wa)

Fleche2=283.205 um

a3:=33 mm b3:=49 mm c3:=66 mm zx3:=c3

4 4 4 4 )

Fléche3::C’te-((4-03-(b3—a3))-<Longz—xm32>-a:a:3+L0ng-(:va:3—a3) —Long-(a:a:3—b3) —(Long—a3) -a:a:3+(Long—b3) cxx3

Fléche3="76.128 um

Evolution de la fleche le long de I'axe en fontion de la position de I'aimant

z:=0mm,1l mm..110 mm
4 4 4 4 )

—Long-(a:—bl) —(Long—al) -x+(Long—b1) X

4 4 4 4
—Long-(w—bZ) —(Long—aZ) -zc+(Long—b2) .’L‘)

4 4 4 4
—Long-(m—b?)) —(Long—a3) -m+(L0ng—b3) w)

f1(z):=Cte- ((4-01 -(bl1—al))- <Long2—a:2> -z +Long-(z—al)
f2(m):

f3(z):=Cte- <(4 -c3-(b3—a3))- <L0ng2 —m2> -z +Long-(z—a3)

Cte- ((4-02 . (b2—a2)) . <Lon92—x2> «x+Long- (m—a2)

A 8.433 19.253 37.228
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